——Conventional DLBCL

A
—— MYC/BCL2 DHL
—— MYC/BCL6 DL
100 P<0.001
_ 804 L
Z
C
2 60
g
2 404 .
~ P=0.007 MYC/BCL2 DHL vs Conventional DLBCL
204 P<0.001 MYC/BCL6 DHL vs Conventional DL.BCL
O T T T T
0 15 30 45 60 75
OS (Months)
Number at risk
Conventional DLBCL
53 30 18 7 2 0
MYC/BCL2 DHL
4 0 0 0 0 0
MYC/BCL6 DHL
4 0 0 0 0 0

—— Conventional DLBCL
—— MYC/BCL2 Atypical DHL
—— MYC/BCL6 Atypical DIIL

100 H‘-‘: 1 P<0.001
_ 804 I
s
E | |
3 601
= P<0.001 MYC/BCL2 Atypical DHL vs Conventional DLBCL
§ 404 P=0.763 MYC/BCLG6 Atypical DHL vs Conventional DLBCL
s
204
O T T T T T
0 15 30 45 60 75
OS (Months)
Number at risk
Conventional DLBCL
37 25 16 5 2 0

MYC/BCL2 Atypical DHL

4

1 0 0 0 0

MYC/BCL6 Atypical DHL

1

1 1 1 1 1



